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104-106 REERINZDFPERISERERST DT

® v £ 3 (CM) | % £ (KG) BMI
A5 R A ¥
I3z T is I35 | ER T | Tk
3 ¥
104 & & ® " 391 | 159.94 55 | 5345 A1 | 21 | 20% | 62% | 14% | 5%
105 & & ® " 395 | 160.35 24y | 53.02 FT | 21 | 18% | 62% | 15% | 5%
106 & = ® " 356 | 16047 253 | 5281 XFT | 21 | 20% | 62% | 13% | 5%
EHH | 2R | FRALE | S o
LR o i ® 1 1 i A% Wi AR
(CM) (CM) | (T/60#7) | (F7/800M)
ay
T LEE| B0 | LE| 20 EF| T LR \&FR R VR S
104 & #| 37 |88%|161|92%| 38 |96%/| 250 |96%|12%| 9% |33%|30% | 84%
105 8 & | 38 |87%)| 159 (91%)| 36 [97%)| 253 |96% | 8% | 8% |33%|29%| 78%
106 £ # | 37 |87%| 159 |93%| 37 |97%/| 266 |87%|10%| 9% |26%|31% | 77%




B¢ R 104 Fou & ¢ OO o o F R
k- % k- % % k- k- % %
RIFAR | BPAER | = | = | = | = | = | = | - | - |- | %= | B | B | EF | %
B A = B A = B A =
FL& A i 46 | 40 | 45 | 46 | 39 | 43 | 45 | 44 | 43 | 131 128 132 391
SR A B R A ¥ 42 | 25 | 42 |45 |39 |41 |27 |33 |34 |109 125 94 328 84%
K ip] % K& 4 15 3 1 0 2 18 | 11 9 22 3 38 63 16%
T35 1 21 [ 20 |22 |20 [ 21 |20 [ 20 | 20 | 20 21 21 20 21
E R 8 8 10 | 10 5 8 13 | 10 5 26 23 28 77 20%
By |[EX#W 28 | 28 | 18 | 28 | 24 [ 26 |27 |29 |3 | 74 78 89 241 62%
r BE 7 3 11 7 6 6 5 3 5 21 19 13 53 14%
87 B 3 1 6 1 4 3 0 2 0 10 8 2 20 5%
* i8] 0 0 0 0 0 0 0 0 0 0 0 0 0
T35 R 40 | 34 | 36 |37 | 40 | 35 |39 | 38 | 38 37 37 38 37
BidiR 56 | 63 | 56 |55 |59 |53 |56 |50 | 59 63 59 59 60
N 10 | 12 4 13 | 20 |15 |16 | 17 | 18 4 13 16 11
EEHTE| Ly 20 12 15 16 19 13 20 12 13 47 48 45 140 36%
GRlz %38 &% 3 2 7 3 3 6 4 6 5 12 12 15 39 10%
- %) |49 14 9 10 | 14 9 6 6 13 | 16 33 29 35 97 25%
% 6 10 8 10 4 10 | 10 7 5 24 24 22 70 18%
Fie s 3 6 5 2 4 7 3 2 2 14 13 7 34 9%
* i8] 0 0 0 0 0 0 0 0 0 0 0 0 0
T35 R 167 | 154 | 160 | 166 | 164 | 161 | 160 | 155 | 159 | 160 164 158 161
AdiR 205 | 205 | 212 | 215 | 200 | 210 | 205 | 201 |194 | 212 215 205 215
iR 100 | 100 | 100 | 130 | 115 | 110 [ 109 | 110 | 122 | 100 110 109 106
Pk (4w 23 | 11 12 |19 [ 14 |13 |14 | 15 | 13 46 46 42 134 35%
GRlz x4 |8 7 4 8 5 9 6 6 3 5 19 20 14 53 14%
- % A9 9 7 15 |13 [ 10 |13 |12 |10 |14 31 36 36 103 27%
% 2 11 6 8 5 7 6 7 7 19 20 20 59 16%
FHiei 4 5 4 0 1 3 3 7 3 13 4 13 30 8%
% 58] 1 2 0 1 0 1 4 2 1 3 2 7 12
T35 1 40 |36 |38 |41 |37 |37 |3 | 40 | 37 38 38 38 38
AdiR 59 | 55 | 60 | 62 | 47 | 53 | 53 | 56 | 47 60 62 56 62
iR 11 2 23 | 14 |21 |20 |2t |2 | 21 2 14 21 2
[ 2 SR P 30 |19 [ 26 | 29 [ 23 |2 [21 |2 |2l 75 72 67 214 56%
(60, |4 7 7 5 6 6 7 6 9 7 19 19 22 60 16%
e B I T 6 9 9 5 5 9 11 3 7 24 19 21 64 17%
L 2 1 5 1 4 3 3 3 4 8 8 10 26 7%
i 1 3 0 4 1 2 2 0 2 4 7 4 15 4%
% 58] 0 1 0 1 0 2 2 4 2 1 3 8 12
T35 R 247 | 264 | 284 | 250 | 249 | 248 | 247 | 227 | 237 | 265 249 237 250
REER 189 | 221 | 224 | 186 | 221 | 204 | 207 | 192 | 193 | 189 186 192 186
N 310 | 372 | 397 | 366 | 310 | 317 | 311 | 257 | 300 | 397 366 311 397
SHER R (4% 22 13 10 18 16 19 15 25 24 45 53 64 162 48%
(800M# & 4248 7 3 7 19 7 5 2 7 6 17 31 15 63 19%
28 % 10 4 10 5 11 16 10 2 4 24 32 16 72 21%
¢ % 3 4 8 1 4 2 2 0 2 15 7 4 26 8%
Fic 0 2 7 3 1 1 0 0 0 9 5 0 14 4%
% 58] 4 14 3 0 0 0 16 | 10 7 21 0 33 54
L 8 1 3 6 4 6 4 6 0 12 16 10 38 12%
8 4 4 3 2 4 3 2 3 5 11 9 10 30 9%
%O g 17 5 11 19 | 15 6 8 11 16 | 33 40 35 108 33%
LS 8 11 12 12 10 15 11 9 10 31 37 30 98 30%
WiEF 88% | 84% | 69% | 87% | 85% | 73% | 93% | 88% | 91% | 80% 82% 90% 84% 84%




F Y| 105+ LR Y BT SN S
k- % k- % % k- k- % %
RIFAR | BPAER | = | = | = | = | = | = | - | - |- | %= | B | B | EF | %
i A = B A = B A =
FL& A i 46 | 39 | 42 | 45 | 44 | 44 | 46 | 44 | 45 | 127 133 135 395
SR A B R A ¥ 44 |39 | 42 | 38 | 37 |38 |37 |4 |43 | 125 113 121 359 91%
i8] X ¥ 2 0 0 7 7 6 9 3 2 2 20 14 36 9%
T35 B 21 21 21 20 21 20 21 20 21 21 20 21 21
R 10 5 10 5 4 8 8 11 7 25 17 26 68 18%
B[22 % rEFER 25 25 23 34 30 32 21 25 25 73 96 71 240 62%
¥ WL 8 4 6 6 9 3 8 5 |10 | 18 18 23 59 15%
57 3 3 5 3 0 0 1 4 1 3 11 1 8 20 5%
* i8] 0 0 0 0 1 0 5 2 0 0 1 7 8
T35 1 40 |42 |36 |38 |38 |38 |3 |35 |35 39 38 35 38
5 iR 60 | 60 | 54 |55 | 54 |58 | 53 | 57 | 61 60 58 61 60
& M4 B 24 | 21 14 112 |14 |17 | 15 10 19 14 12 15 14
HEWHE |4 20 | 21 14 |17 [ 14 |16 | 11 11 11 55 47 33 135 34%
GRlz %8 |saw 1 2 4 3 8 4 7 2 3 7 15 12 34 9%
-x) |4w 15 10 10 14 8 13 12 15 14 35 35 41 111 28%
¢ % 7 5 5 6 10 6 6 7 10 17 22 23 62 16%
FHiei 1 1 9 4 1 3 4 7 5 11 8 16 35 9%
* i8] 0 0 0 0 0 0 0 0 0 0 0 0 0
Ti54 3 166 | 161 | 161 | 158 | 162 | 162 | 156 | 154 | 152 | 163 161 154 159
5 iR 225 | 195 | 200 | 206 | 203 | 210 | 195 | 200 |190 | 225 210 200 225
iR 125 | 120 | 110 | 95 | 112 | 125 [ 120 | 110 | 111 | 110 95 120 108
> EHR (4% 18 12 14 15 15 18 10 11 8 44 48 29 121 32%
Grl=z =& |09 9 8 6 9 8 3 5 4 8 23 20 17 60 16%
- % A9 7 10 | 11 10 8 7 13 | 11 11 28 25 35 88 23%
G 9 6 7 2 8 11 9 12 | 11 292 21 32 75 20%
i 2 3 4 7 2 1 3 4 6 9 10 13 32 9%
% 58] 1 0 0 2 3 4 6 2 1 1 9 9 19
T35 1 40 |34 |35 [ 39 |36 |36 |33 |34 |35 37 37 34 36
B4R 67 | 47 53 54 52 53 57 52 53 67 54 57 67
iR 20 |17 |19 | 25 |22 |20 |21 | 23 | 21 17 20 21 17
[ E LR ™ 26 | 17 |17 [ 26 [ 22 |18 [ 11 |16 [ 18 60 66 45 171 46%
(160F)p |s1 9 5 8 3 3 7 5 4 8 22 13 17 52 14%
) |4 6 1 1w |12 |7 7 12 | 14 | 13 27 26 39 92 25%
% 2 4 3 3 8 6 7 8 3 9 17 18 44 12%
Hie i 2 2 4 0 1 1 2 0 1 8 2 3 13 3%
A iR 1 0 0 1 3 5 9 2 2 1 9 13 23
T35 B 254 | 264 | 267 | 235 | 239 | 251 | 267 | 254 | 242 | 262 242 254 253
5 iR 194 | 225 | 219 [ 192 [ 198 | 206 | 216 | 209 | 208 | 194 192 208 192
iR 389 | 310 | 328 | 289 | 267 | 319 | 345 | 325 | 304 | 389 319 345 389
SRR (4 22 | 11 14 [ 29 | 21 18 8 16 | 26 47 68 50 165 45%
(800M3% & |42 11 6 5 2 11 2 7 7 9 22 15 23 60 16%
29 |4 7 4 | 12 6 5 4 |12 | 14 6 33 25 32 90 24%
% 3 8 8 2 0 3 10 3 3 19 5 16 40 11%
Fic 2 0 3 0 0 3 4 1 0 5 3 5 13 4%
A iR 1 0 0 6 7 4 5 3 1 1 17 9 27
EFE 7 4 3 5 5 3 1 0 2 14 13 3 30 8%
8 4 2 2 4 3 3 2 5 3 8 10 10 28 8%
wo® | ars 15 | 18 | 11 16 | 10| 12 12| 11 12 | 44 38 35 117 33%
S S 12 9 8 6 15 | 14| 11 15 | 15 | 29 35 41 105 29%
B 86% | 85% | 57% | 82% | 89% | 84% | 7o0% | 6% | 4% | 76% 85% 74% 8% 8%




B¢ R 106 Fou & ¢ OO o o F R
% % % % % % % %
PIBE P PP = = = - = = = = - % = - & 3 %
b % e b % i= & *
FL& A i 45 | 43 | 43 | 46 | 42 | 43 | 46 | 48 131 131 94 356
SR A B R A ¥ 39 | 41 | 29 | 42 |35 | 42 | 36 | 45 109 119 81 309 87%
4 58] 4 #& 6 2 14 4 7 1 10 3 22 12 13 47 13%
Ti54 3 20 [ 21 |20 [ 20 |2t |21t [21 | 21 20 21 21 21
R 8 6 9 11 10 7 8 11 23 28 19 70 20%
B[y |2 ¥EE 33 | 29 [ 31 |24 |21 |28 [29 | 26 93 73 59 221 62%
r BE 4 6 3 11 5 6 4 7 13 22 11 46 13%
57 3 0 2 0 0 6 2 5 4 2 8 9 19 5%
% ipl 0 0 0 0 0 0 0 0 0 0 0 0
T35 R 39 | 40 | 38 |36 | 37 |36 |34 | 38 39 36 36 37
BidiR 56 | 56 | 60 | 60 | 61 | 57 | 53 | 60 60 61 60 60
B K% IR 17 20 20 16 15 15 17 10 17 15 17 16
X RIR A 20 | 19 |18 |15 |13 [ 11 |11 |17 57 39 28 124 35%
GRlz x5 |y 6 8 3 5 4 3 5 7 17 12 12 41 12%
- =) % 8 7 10 7 10 16 8 12 25 33 20 78 22%
% 8 7 3 10 | 10 7 14 7 18 27 21 66 19%
Fie s 3 1 5 7 4 6 6 4 9 17 10 36 10%
% ipl 0 0 0 0 0 0 0 0 0 0 0 0
T35 R 154 | 158 | 162 | 162 | 155 | 155 | 159 | 163 158 157 161 159
5 id4n 195 | 200 | 204 [200 [195 | 195 | 200 | 200 204 200 200 204
PRI 80 | 120 | 114 | 110 | 120 | 110 | 105 | 115 80 110 105 98
gt (&9 12 |12 [ 19 |12 8 8 12 | 17 43 28 29 100 30%
(Rlz =& |y 6 8 1 14 6 10 8 8 15 30 16 61 18%
- % W 10 11 8 10 12 12 10 15 29 34 25 88 27%
% 9 9 4 6 10 9 7 5 22 25 12 59 18%
Fic 4 2 3 1 3 4 4 2 9 8 6 23 %
A iR 4 1 8 3 3 0 5 1 13 6 6 25
T35 R 43 | 39 | 39 |37 |35 |36 |34 | 37 40 36 35 37
5 id4n 59 | 55 | 54 | 53 | 6l 60 | 58 | 54 59 61 58 61
PRI 20 | 20 | 25 | 23 | 22 | 20 8 18 20 20 8 8
[ E LR ™ 33 |27 |21 |21 |15 |15 [19 |25 81 51 44 176 52%
(160F)p |s1 2 4 5 2 4 7 5 [ 10 11 13 15 39 11%
e B I T 5 10 8 17 |17 |14 |11 5 23 48 16 87 26%
% 2 0 4 3 4 5 4 6 6 12 10 28 8%
Fic 1 1 0 0 1 1 5 1 2 2 6 10 3%
% gl 2 1 5 3 1 1 2 1 8 5 3 16
T35 R 341 | 280 | 256 | 240 | 258 | 274 | 253 | 245 292 257 249 266
AdiR 208 | 188 | 199 | 205 | 210 | 207 | 197 | 194 188 205 194 188
& M4 B 748 | 429 | 344 | 298 | 316 | 416 | 347 | 346 748 416 347 748
IR (4% 20 9 12 130 |12 [ 11 |15 |21 41 53 42 136 42%
(800M# & 4248 3 10 6 6 5 4 11 3 19 15 14 48 15%
i) 4w 2 8 9 6 |13 |10 | 4 9 19 29 13 61 19%
% 4 6 1 3 7 9 4 4 11 19 8 38 12%
il 13 8 3 0 1 9 5 2 24 10 7 41 13%
% gl 3 2 12 1 4 0 7 3 17 5 10 32
I3 6 4 5 3 4 1 3 6 15 8 9 32 10%
K 5 3 2 5 3 2 3 5 10 10 8 28 9%
BT |FE 7 11 10 12 8 13 7 13 28 33 20 81 26%
LS 10 13 4 16 14 13 15 12 27 43 27 97 31%
B 72% | 6% | 72% | 86% | 83% | 69% | 78% | 80% 73% 79% 79% TT% %
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